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QUESTION 1

Your company has multiple inventory organizations where goods are transferred internally. A user has 

created a new organization but the new organization is unavailable when creating an interorganization 

transfer. 

What is the missing setup? 

A. The destination organization transfer type is In Transit. 

B. Interorganization Parameters are not set up between the organizations. 

C. Inventory organization data access for users is not set up. 

D. The source and destination organization doesn\\'t belong to the same legal entity. 

Correct Answer: D 

 

QUESTION 2

You have a high value item that you want to audit on an unscheduled basis to deter pilfering. Which method would you
use to do this? 

A. Physical Inventory Count 

B. ABC Count 

C. Automated Cycle Count 

D. Blind Inventory Count 

E. Manual Cycle Count 

Correct Answer: E 

 

QUESTION 3

Your client wants the purchasers to be able to run the min-max plan for items under their control and then 

manage the POs created out of these. 

Which parameters can they use to be able to do this? 

A. From Planner to Planner 

B. From Buyer to Buyer 

C. From Item to Item 
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D. Sort by 

E. Planning Level 

Correct Answer: C 

 

QUESTION 4

Identify the correct movement request where the move orders are preapproved requests for subinventory transfers that
bring material from a source location to a shipment staging subinventory within the organization. 

A. Automatic Movement Request Requisitions 

B. Pick Wave Movement Request 

C. Replenishment Movement Request 

D. Shipping Movement Request 

E. Movement Request Requisitions 

Correct Answer: B 

 

QUESTION 5

What are two outcomes when a lot expires on an item with lot control enabled? 

A. It cannot be reserved for a date beyond the expiration date. 

B. It is issued out of stores. 

C. It remains in inventory, but is not considered on-hand when the user is performing min-max or reorder point planning
calculations. 

D. It cannot be transacted. 

E. It is not included in cycle counts. 

Correct Answer: AC 
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